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GEOGRAPHY
[PROGRAMME]
Course Code : GEO(G) CC-03-T
~  Human Geography
Full Marks : 40 P - Time : 21 Hours
The figures in the rzght-hand margin indicate marks.

Candidates are requlred to give their. answers in their
own words as far as practicable.

1. Answer any five from the follovﬁihg questions:
‘ 53k 2x5=10
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a) -What 1s optimum populatlon‘?
Y. wam I 74@1? e
b) Name any two rellglous mmorlty groups of India. :
taves qfb 4 ey crdia AW @
c) Deﬁne the term urban in Indian conteéxt.
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d) What.i is 1mrmgratlon‘?
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e) Name two cultural towns.
6 Ngfes =zma O @12

f) What is meant by society?
e FCF A ?

g) Name the states having highest and lowest literacy
~ rate in India as per the latest census.
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h) What is cultural diffusion?
oS Rogaet M et 2
2. Answer any two from the following questions:
5x2=10
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a) Highlight the major causes of lmigration.
AfRarea gum FRdelE Sme 39| _
b) Classify religion with suitable examplefs..'
ToRE THIZAPR 40 iRt w0 |

¢) Define age-sex pyramid and compare it with
respect to developing and developed countries.
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d) Differentiate the urban settlements from the rural
settlements.
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3. Answer any two from the following questions:
N : 10x2
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a) Explain the scope and content of Human
Geography. : _
TN ST Aff @ R i SIS 31 |

b)  Explain the Demographic Transition Theory with
its criticism.
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¢) Give an account of the world's population
distribution.
AR TTRD T eS|

d) Make a classification of rural settlements and
analyse the factors responsible for the growth of
different types of rural settlements.
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